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Algebr? I | Name:
5.3 Warm-Up #2 ) Date: Hour:

Find the slope of the lines passing through the following points.

1. (Or _6)1 (_'3p 3)

2. (2-96-) —— 3. (-1,-2),(-3,-4)

‘Write the equation for a line

4. with slope 2 and y-intercept 5.

5. with slope -3 and y-intercept 1.

2 .
6. Graph y = 35 4 by using the slope

and y-intercept.

over
7. Write an equation in slope-intercept form 8. Multiple choice. What is the slope-intercept form of an
for the line graphed below. equation of a line?
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Write an equation in slope-intercept form for the line that
fits each description below.

9. crosses the y-axis at 3 and has a slope of —%

10. contains the origin and has a slope of 7

11. crosses the y-axis at —3 and has a slope of 6

Without graphing, describe what the graph of each equation
looks like. Include information about the slope and y-intercept.

12.y=—4x+7 5‘°|2L is 3 -in+ercep‘l' 1S
13.y=§x—3 slope s ; \’I—‘m'}’e_rc,cp'l' 1S
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7. Write an equation in slope-intercept form 8. Multiple choice What is the slope-intercept form of an

for the line graphed below. equation of a line?
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Write an equation in slope-intefcept form for the line that
fits each description below.
9. crosses the y-axis at 3 and has a slope of ——;—
10. contains the origin and has a slope of 7
11. crosses the y-axis at —3 and has a slope of 6
Without graphing, describe what the graph of each equation
looks like. Include information about the slope and y-intercept.
12.y=—4x+7 slope | s y=inter t i
13.y= é—x -3 S!OP& iS - .; y"’ i V\+C¥'§§g! ‘ls
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Algebra l Name:
5.3 Warm-Up #2 Date: Hour:

Find the slope of the lines passing through the following points.

1. (O, _6): (_3I 3)

2. (-2,-4,6,-1) — — 3. (-1,-2),(-3,-4)

Write the equation for a line

4. with slope 2 and y-intercept 5.

5. with slope —3 and y-intercept 1.

2
6. Graph y = rti 4 by using the slope

and y-intercept.

over




